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Hannah is paid £280.
She spends 30% on her rent, 25% on food and bills and saves the rest.

(a) How much does Hannah spend on rent?
(b) How much does Hannah spend on food and bills?
(c) How much does Hannah save?
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A coin is thrown 30 times.
The coin lands on tails 20 times.
What is the relative frequency of the coin landing on tails?
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Ratio Simplest Form Convert

Unit Equivalent
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Fraction Decimal Percentage

Equivalent Convert
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Relative frequency Estimate

Expectation Expected value
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Equally likely QOutcome Event

Denominator Numerator
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Relative frequency Estimate

Expectation Expected value
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Equally likely QOutcome Event
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1. Ratio

Ratio compares the size of one part to
another part.

‘Written using the *:” symbol.

3:1
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2. Proportion

Proportion compares the size of one part to
the size of the whole.

Usually written as a fraction.

In a class with 13 boys and 9 girls, the
proportion of boys is 5 and the

proportion of girls is i

3. Simplifying
Ratios

Divide all parts of the ratio by a common
factor.

5:10=1:2 (divide both by 5)
14:21=2: 3 (divide both by 7)

4. Ratios in the
form1: nor
n:1

Divide both parts of the ratio by one of the
numbers to make one part equal 1.

5:7:1:£mtheforml:n

5:7=:lintheformn: 1

7

5. Sharing ina
Ratio

1. Add the total parts of the ratio.

2. Divide the amount to be shared by this
value to find the value of one part.

3. Multiply this value by each part of the
ratio.

Share £60 in the ratio 3; 2 : 1.

3+2+1=6

60+6=10
3x10=30,2x10=20,1x 10=10
£30:£20: £10





image2.tmp
6. Percentage

Number of parts per 100.

31
31% means —
100

7. Finding
10%

To find 10%, divide by 10

10% of £36 = 36+10=£3.60

8. Finding 1%

To find 1%, divide by 100

1% of £8 = 8+100 = £0.08

9. Percentage
Change

Difference

X 1009
Original %

A games console is bought for £200
and sold for £250.

% change = == x 100 = 25%
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10. Probability
Notation

P(A) refers to the probability that event A
will occur.

P(Red Queen) refers to the probability
of picking a Red Queen from a pack of
cards.

11 Theoretical
Probability

Number of Favourable Outcomes
Total Number of Possible Outcomes

Probability of rolling a 4 on a fair 6-
sided die =2,

12. Relative

Number of Successful Trials

"A coin is flipped 50 times and lands on

Frequency Total Number of Trials Tails 20 times.

The relaive frequency of geiing Tails
3. Expected | To find the mambr of expected outcomes, | The probabiliy that  footoall eam
Outcomes ‘multiply the probability by the number of | wins is 0.2 How many games would

trials.

you expect them to win out of 407

0.2 X 40 = 8 games
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Question 1:  Ed has 30 sweets.
The ratio of red sweets to yellow sweets is 2:3
How many red sweets does Ed have?
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